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Question 1.Select the related word/letters/numbers from the given alternatives:

o T el A & HafRre vres/ s1aR /e Bl gfa|
Forecast : Future :: Regret : ?

garga ST : 4TSy - W wh BT ?
Options:
1) Present

T

2) Sins

ara

3) Life

SICE]

4) Past

ferma

Correct Answer: Past
femra

Candidate Answer: Past

ferma

Question 2.Select the related word/letters/numbers from the given alternatives:

o T fyaredl A & el vreg/ s1aY < @ gfal

DCEF : QPRS :: XWYZ : ?
Options:

1) SRQP

2) NMOP

3) STOV

4) IMGF

Correct Answer: NMOP

Candidate Answer: NMOP

Question 3.Select the related word/letters/numbers from the given alternatives:

A T fyredl # & HafRre vres/ s16RY/weaT B gl
121:12::25:7?
Options:

Correct Answer: 6
Candidate Answer: 6
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

FerafeRad we= 9 Ry g Rl & & frww vres/318R/5%m Y gfvg 2

Options:
1) Potato

S

2) Tomato

THIY

3) Ginger

3IH

4) Carrot

RIS RS

Correct Answer: Tomato
THIY

Candidate Answer: Tomato
<THIY

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

forferRad yreet & fyw a1q frspedl # 9 fRrew wre/ a1amy/wive #Y gfi+g 2

Options:
1) ACEG
2) KMNP
3) HJLN
4) TVXZ

Correct Answer: KMNP
Candidate Answer: KMNP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

fraferRas wem & faw a1 fyereat & & fawe vreg/ s181/5e &1 gfeg 2
Options:

1) 63-36

2) 45-74

3) 48-84

4) 26-62

Correct Answer: 45-74

Candidate Answer: 45-74

Question 7.Arrange the following words as per order in the dictionary
TR eTeal T PTeReIer # AT 7Y 7 & ST fafag 2

1. Tortoise 2. Torrid 3. Torso 4.Torque 5. Tortuous



Options:
,2,3,1,5
2)3,2,4,1,5
,3,4,5,1
2,1,5
Correct Answer: 4,2,3,1,5
Candidate Answer: 4,2,3,1,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
Frferae oot o & srgep o T 2, o wep ve e 2 | R g feremedt 9 & 9 Wl feew gite St st B T ?

PMT, 00S, NQR, MSQ, ?

Options:

1) LVR

2) LVP

3) LWP

4) LUP

Correct Answer: LUP

Candidate Answer: LUP

Question 9.A series is given, with one term missing.
Choose the correct alternative from the given ones that
will complete the series.

fr=ferRaa oo o wes srgsre fear a3, ford T ug

o 2 | fau 1T fasmeul § 1 98 |l faswmeu o &Y rsh
DI YT A ?

206, 309, 412, ?, 618, 721
Options:

1) 751

2) 749

3) 515

4) 514

Correct Answer: 515
Candidate Answer: 515



Question 10.Pointing Rajesh in the photograph, Sunita
said,’ The only son of his mother is my father'. How is
Sunita related to Rajesh?

TISTITH H TSI T SR MR Hd T GHIdT o Hgl, "
D! ATAT BT Teb AT G AR FUar 8 | GArar w1 Irerer 4
T HaT g ?

Correct Answer: Daughter

Candidate Answer: Daughter



Question 11.A, B, C, D and E are standing in a line facing
North. E is standing 40 metres left to B. A is standing 20
metres left to C. D is standing 20 metres right to E and 50
metres right to C. Where is B standing from D?

AB,C DR ETH uh H SuR &I SIRYg dh @S & | E, B
A IRY 31N 40 G B SR R TSI | A, C & a1 31N 20
HreX A IR TSI 2 | D, E & SRT 31 20 HieX @ S o)
3R C & IRT 31N 50 WX S SR R @eT 2 | B, D F fope=t

N AR freRTeT g ?

Options:
1) 20 metres right

20 HIeX IR 3R
2) 30 metres right

30 #IeX SRIT 3R
3) 40 metres right

40 HIeY ST 3R
4) 40 metres left

40 Hex 9t 3R
Correct Answer: 20 metres right
20 HIeX IHRIT 3R

Candidate Answer: 20 metres right

20 HieY S 3R




Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

fraferRad faeeat 7 3 o vreg g s iR U oresg &5
31811 T TART h¥ch gl IHTIT ST HhdT ?

COMFORTABLE

Options:

1) FORT

2) TABLE

3) COMFORT

4) ROUTE

Correct Answer: ROUTE
Candidate Answer: ROUTE

Question 13.1f A =1, AND = 19, then ANT =?

gfe A =1, AND = 19 T, a7 ANT fpeh SRTaR IR1T ?

Options:

1) 35

2) 33

3) 23

4) 19

Correct Answer: 35
Candidate Answer: 35



Question 14.1f + means +, + means -, - means x and X
means +, what will be the value of the following
expression:

Ife '+ BT HIAT =, '+ BT A -, - BT HIAd X 3T X' BT
Hddd + gl, dI f<T 37T 994 &1 {419 9d18¢ ?

8+4+3x5-9=7?
Options:

1) 44

2) 53

3) 62

4) 64

Correct Answer: 44
Candidate Answer: 44

Question 15.In this question, some equations are solved
on the basis of a certain system. On the same basis find
out the correct answer from amongst the four alternatives
for the unsolved equation.

BB THIBRT T i yomrel & get fhy e &1 St
JMUR WX ST 1T fasmeul 7 I T8 IR gAH fe1Rag ?

8x5x0=805,7x4x6=764,6x8x9="?



Options:

1) 689

2) 698

3) 968

4) 986

Correct Answer: 698
Candidate Answer: 698

Question 16.Select the missing humbers from the given
alternatives

fau e farsredl # A T 37 SiTd HifeTe ?

Options:

1) 56

2) 48

3) 38

4) 36

Correct Answer: 56
Candidate Answer: 56



Question 17.Anitha walked 20 km towards north. Then
she turned right and walked 30km. Then she turned right
and travelled 35 km. Then she moved left and walked 15
km. Finally she turned left and walked 15 km. In which
direction was she from the starting point?

3iferar 20 freer STR & 3R =l | A 98 ST geax
30 feretrite =rett, fthe & a8 STT ge o 35 fheiiex
et | fhR ag I gt 3R 15 foreiiiex =ell | ag uRfd®

w9 A feafeomag?
Options:
1) South

gfaoT
2) North

]

3) East

4) West

Correct Answer: East
od

Candidate Answer: East

°d,



Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Statements: 1. No man is a Monkey. 2. Hari is a man.
Conclusions: |. Hari is not a Monkey. Il. All men are not
Hari.

FrefeRaa uee 9 Ut g1 <) g fog T 8, orass smt
3 fersre/ar=ard, | 3R 11 freprer TR €1 TRt AT fR
Ih T I & ITg 98 ATHIRIG: 91d 9241 9 =1 udia
2IdT1 g1 | 3Mueh! fouty &h3=T 2 o6 feu o aheg & & 9T
fafera wu @ g} frshd/ar=udT fArehTelr ST Fehdr € 2

aehed : 1. IS IS T g g |
2. g e 2|

forshe 1. gR I I 2

Lt e gR =E B |



Options:
1) Only conclusion | follows

el F=pY | I 2 |

2) Only conclusion Il follows

et feepd 1| T 2

3) Both conclusion | and conclusion Il follow

frepd | RIS I 2

4) Neither conclusion I nor conclusion Il follows
a1t e | g1 8 IR AT 8 s || | gt 2
Correct Answer: Only conclusion | follows

ool fFrspd | I 2 |

Candidate Answer: Both conclusion | and conclusion Il
follow

frspy | SR ST I T



Question 19.Four positions of a cube are shown in the
diagram. Which color is opposite to Green color in the
given cubes?

fer=ferRad uea ¥ teh g9 # R Rufaar o g 21 few
T YA H g W h G HIF-AT W[ ?

" 1 I 1 e 1 | i h

i | fpetmm T
==,

Options:
1) Blue

et
2) Yellow

Il

3) Orange
SIEQ]

4) White
Athg

Correct Answer: Orange
RN

Candidate Answer: Orange

CIERI|



Question 20.Which of the following figures correctly
represents the relations between: Doctors, Lawyers,
Professionals

ag 3ia aarsy st fraferRaa Sfvrat & e a8t v
I STl g |

ret, T, o

Options:

)

——

e —
xl
:

N
&

oS

O\
NeY,

(@
o
q
q
(903
O
p
>
=
7))
=
(]
o

Candidate Answer:



Question 21.Which answer figure will complete the
pattern in the question figure?

HIF-HY ST TH{T T TR & Uherdy (Ge+) I g7
B ?

e
S

]




Options:

1)

o

2)

Correct Answer:

e

Candidate Answer:




Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

<1 913 SR SHTTTT § | 3 IR ki I Fiwg forasd
Te+ 3Tl fAfga g 2

2

Options:

1)
NG




Correct Answer:

X

R

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

gfg fordY BRTeT B 1< fqETe gea & ST{aR AgHR HIe]
SITY A WA & a1¢ 9 fohd SN 3T oharT fea@rs 39m 2

gee




Options:




Question 24.If a mirror is placed on the line MN, then
which of the answer figures is the right image of the given

figure?

7 e T T MN T UR I@T 11T 7 < 7€ ST
TR AT H H BIF-HT STl T JThieT BT I Hierier
SR ?

<

=7 7777 7=




Options:

Correct Answer:

Cahdidéie Answer:

>



Question 25.In the question, a word is represented by only
one set of numbers as given in any one of the
alternatives. The sets of humbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, e.q.,
'U' can be represented by 01, 12, etc., and ‘L' can be
represented by 56, 67, etc. Similarly you have to identify
the set for the word 'SPARE'

frrferiae uest 9 farerel 9 faU T Hear-a9g, 318 &
<1 N gIRT S9N Y &, S o - faw g < sireggli # €
TYE | & T IR URA B A0 H 4TH J T B, 3R
3TYE Il & 5F 9 dh, 39 STHG! A Teh 31X Bl Ugel
SHD! Uitk 3N g1 & TTHY 94T gIRT ST ST FehdT ¢ |
31T < foTT, U &Y 01, 12, 3T ERT S 91T ST HhdT &
TAT L T 56, 67,311 IRT SINIT ST AhdT & | ST dNg I
U fT 915 'SPARE' & foTT T¥g &Y ugar=-T 2|

e e

S|l m =w| |
4 4 |
e | m | om |

1

4 1

B | W Ba = | 2D
wl|lE = mix=| &~
o
1 4 ' : 1
mrlERrE D &|W.
|
|| El]BE

|'m =
-



Options:

1) 22,41, 85,32, 14

2) 12,24,21,68,14

3) 44,78, 67,32, 42

4) 33, 30, 43,40,43

Correct Answer: 22, 41, 85, 32, 14
Candidate Answer: 22, 41, 85, 32, 14

Question 26.Golden Hand Shake scheme is the name of

"Mesd v I M=ferRad # ford Ars4T 61 T 3R
a1 22

Options:
1) Retirement Scheme

GEIECSDINE

2) Voluntary Retirement Scheme

wiRe®w Garfg grer

3) One Rank One Pension Scheme

Teh b Teh UDTH AToT-T

4) Private Sector Retirement Scheme

DTS e HaT+Tg JrsTT

Correct Answer: Voluntary Retirement Scheme
s Fartg arerr

Candidate Answer: Voluntary Retirement Scheme

wfed Jar-gd arerr




Question 27.Indian Constitution can be amended
according to the procedure laid down in the following
Article

ferefeiad & & fpa argeee o rIvUTel & dgd
RO o ¥ 9N faar ST aadar g 2

Options
) Article 368

34-:1—@-4368

2) Article 345

31—:1—@7;' 345

3) Article 351

34@‘@?351

4) Article 333

eﬂa—é—q' 333

Correct Answer: Article 368

35S 368

Candidate Answer: Article 368

3TeuT 368

Question 28.Who is the Vice Chairperson of NITI Aayog ?

T TR HT SUTETET i &



Options:

1) Dr. Bibek Debroy

st fords SR

2) Dr. V.K. Saraswat

S1. 9., IR

3) Dr. Arvind Panagariya

STeRfag yaafgar

4) Arun Jaitley

3T™UT Siceil

Correct Answer: Dr. Arvind Panagariya
SteRfag yaafgar

Candidate Answer: Dr. Arvind Panagariya

SteRfag yaafgar

Question 29.The city of Vijayanagar is also known as

fereTaTR 91gY 3R fopa 919 | ST SiTar 2



Options:
1) Halebidu

geiterg

2) Chandragiri

T RT

3) Hampi

T

4) Kondavidu

GRS

Correct Answer: Hampi

e

Candidate Answer: [ NOT ANSWERED |

Question 30.Which of the following Sultans of Tughlaq
dynasty issued copper coins instead of silver ones?

frrfeRad qreTsst Ireteer & fopa Jerar= = =Tar &
RyerepT & T TR e & Rferh TIelTq o 2




Options:
1) Ghiyasuddin Tughlag

TRRIE Tl

2) Muhammad bin Tughlaq

ggHI< fod qareth
3) Firoz Shah Tughlag

oIt 9ITg JiTeth

4) Mahmud Tughlag

HEHS Telh

Correct Answer: Muhammad bin Tughlag
R CACE KM C

Candidate Answer: [ NOT ANSWERED ]

Question 31.Which of the following areas or regions is
most prone to earthquakes?

fr=rferRaa & 9 19T 8151 U1 8 5181 U 4y 311 6t
YTAT 9 F 378 872




Options:
1) Deccan Plateau

<TI0 (SoFp ) BT USSR
2) Ganga-Brahmaputra Valley

TNT-STEIY = et
3) Plains of northern India

3TN IR BT e T & F

4) Western Ghats

gfRaH "Te

Correct Answer: Ganga-Brahmaputra Valley
TNTT-STEIg o Ut

Candidate Answer: [ NOT ANSWERED |

Question 32.Honey that has high concentration of sugar
does not decay because

v1g<, FTIH TFh & Sod AT dT UTS STl §, dsdl gl
& Fifeh




Options:
1) Bacteria cannot survive in an active state as it is totally
deprived of oxygen

IS H ATFHTSI T STHIT IgdT & 3T SidT] Alshd
ITTXAT H Siifera =) Ig ura

2) It contains natural antioxidant that prevents bacterial
attack

9 UThicTeh TEISARaSE gId 8 SIl SIaTu] & SATshHUT bl
NEACT R

3) Bacteria cannot survive in an active state in a solution
of high osmotic strength as water is drawn out

S URTEIOTRT 91y & el | UTHY [frehet SIT9 o HIN0T
STaTu] sk STawT H Siifad 981 Xg urd
4) None of these

I forered et el ©

Correct Answer: Bacteria cannot survive in an active state
in a solution of high osmotic strength as water is drawn
out

I YRTEION I1Hed & 9let o UTHT Mehel ST &6 hIR0T
STHATo] AfshT STa=AT § Siifara 781 Ig urd
Candidate Answer: [ NOT ANSWERED ]




Question 33.At low temperature, Lead behaves as a :

HH 19T U ST fr=ferRaa g ©u 5 oata e
22

Options:
1) Semi conductor

3T ATAD
2) Super conductor

IS ATAD

3) Insulator

farega Treres (YorarpraT)

4) Conductor

Tclh

Correct Answer: Super conductor

IS ATAD

Candidate Answer: [ NOT ANSWERED ]

Question 34.In networks, a small message used to pass
between one station to another is known as

A<eh | AT 9T, il Teb T H TH 9T Bl

SITdT &, FIT hgelTdT & ?




Options:
1) Token
G

2) Byte

digc
3) Word

Is

4) Ring

NAT

Correct Answer: Token

G
Candidate Answer: Byte

CIEE

Question 35.Which of the following is a natural polymer?

frr=rferRae o | i A1 T UThics Ulfer R g ?



Options:

1) Bakelite

dehelleT

2) Nylon

S IEGIGH

3) Polythene

grceirefis

4) Starch

T

Correct Answer: Starch

T

Candidate Answer: Nylon

7

BIEIGH

Question 36.Which of the following mammals lay eggs?

frr=teRaa & 9 &9 a1 WHur SaR g 2dT1 8 ?




Options:
1) Bat
TGS
2) Whale
<A

3) Weasel

ECrll
4) Platypus

ALK
Correct Answer: Platypus
Y CALES]

Candidate Answer: Platypus

PG ALK

Question 37.Akbar's tomb is located at which of the
following places?

3Tha} BT HhaT MHTIRTd fora T ur g g 2




Options:
1) Sikandara

RFh~ax]

2) Agra

ST

3) Fatehpursikri

gy Th

4) Allahabad
Slgldlg
Correct Answer: Sikandara

T

Candidate Answer: Sikandara
RIeh—<

Question 38.Pt. Bhimsen Joshi is associated with which
of the following fields?

ufea WA= ool r=afeaRaa # 9 5 &9 9 J9u T@a
22



Options:
1) Literature

wfee

2) Social services

eI JdTd

3) Classical music

TSI T3

4) Politics

SIS ETIG]

Correct Answer: Classical music
TSI T

Candidate Answer: Classical music

IS I

Question 39.Security Council of the UN comprises of 10
non-permanent members and their tenure is

T T bl Y& UiRTe o 10 AT TSl 1
hThTel fha-T a1 & ?




Options:

1) 5 years

594

2) 4 years

4qY

3) 3 years

399

4) 2 years

2 99

Correct Answer: 2 years

2 9%
Candidate Answer: [ NOT ANSWERED |

Question 40. Tripitakas' are sacred books of

it e T AT I frg ed a g 2
Options:

1) Hindus

B

2) Jains

oie

3) Parsis

g

4) Buddhists

die




Correct Answer: Buddhists

e

Candidate Answer: Buddhists

i

Question 41.If a country devalues its currency, its

i IS QT ITUT YT BT TSI Hdl g dl

Options:

1) Exports become cheaper and imports become costlier
Frrata aar 921 g gEI g Srar g

2) Exports become costlier and imports become cheaper.
feralTa A 92T 3Td 4T g1 SiTdT &

3) Exports value is equivalent to imports value
ot I smaTd Hod & SRTaR g1 SiTdl 8

4) No effect on exports and imports

frata T2aT IMTd WX BIs UG Fg1 ysdT

Correct Answer: Exports become cheaper and imports
become costlier

feralTa G IAT AT HEIT g STdT 8

Candidate Answer: Exports become cheaper and imports
become costlier

feraTa I=aT 92T AT HEIT &I ST 8




Question 42.Which one of the following non-metals
shows allotropy in the liquid state?

frrfeRee § i & STeTq 31U+ TRy 3Tt

TR TSRIT HIAT B ?

Options:
1) Carbon

CACE

2) Sulphur
ThY

3) Phosphorous

BB IRI

4) Bromine

S

Correct Answer: Sulphur

HethY

Candidate Answer: [ NOT ANSWERED ]

Question 43.Sectoral distribution of GDP index
measures

Si.SL.WY. Yahic & SFAaR faaxor 3 fora &1 Aru= fean

SIT HehdT &7




Options:

1) Agriculture development of a country
9T 1 By Haeh faewra

2) Economic development of a country

29T T 3MTAh farpTr

3) Social development of a country

29T kT GTHTTSTR T

4) Socio-Economic development of a country

29T T ATATISTS TAT 3MI frepra

Correct Answer: Economic development of a country
9T BT 3 faemra

Candidate Answer: Economic development of a country

29T T 3T fapr

Question 44.Ragini is a popular form of folk song
belonging to the State of

TR foprg s 1 Alh o I Otelt 27




Options:
1) Kashmir

HIHN
2) Kerala

HYA
3) Haryana

SR

4) Manipur

afoTgR

Correct Answer: Haryana

R

Candidate Answer: [ NOT ANSWERED |

Question 45.Which of the following border is known as
Radcliffe line ?

for= o ia O TaRET ISfFaw YET hgarar g ?




Options:
1) India and China

HRT 9AT =+
2) India and Bangladesh

YR F2AT AT

3) India and Pakistan

IR AT UTTeh &t
4) India and Afghanistan

IR AT RIS
Correct Answer: India and Pakistan
IR IAT Tieh T

Candidate Answer: India and Pakistan

YRT T2AT UTieh T

Question 46.Deepika Kumari is associated with which of
the following sports?

ST R wT ey FrafaRea A G fra @a 9 8 2



Options:
1) Archery

RIECIS

2) Gymnastics

fo=Re®

3) Badminton
dshies

4) Athletics

Tafeary

Correct Answer: Archery

RIECAI

Candidate Answer: Archery

RIECIS

Question 47.What does the term 'Ebola’ stand for?

"SIAT" ITec | 31T AT FHSTA 3 ?



Options:

1) A viral disease outbreak in West Africa

et asteT # e freTo) 9T ST

2) A viral disease outbreak in Bangladesh

AT | Teb feremoy I9T yepia

3) A city in Syria destroyed by ISIS.

4) None of the these

®1E Wt Rreveu T 781 &

Correct Answer: A viral disease outbreak in West Africa
af¥erft arstesT # e fRreTo) IR T

Candidate Answer: A viral disease outbreak in West
Africa

ufeaHY 3TmhIeT H T fasTo] IRT gehiy

Question 48.The virus of AIDS affects the growth
of

ugH &1 faumo] foraat afes ot gwTfara war g 2




Options:
1) Haemoglobin

SR

2) RBCs in blood

ITh | IR
3) T cells in blood

I<h H dT. RITRT

4) Grey cells in brain
ARAISh H U HIDTHT
Correct Answer: T cells in blood

Th H <. BIdThT
Candidate Answer: [ NOT ANSWERED ]

Question 49.Which of the following is not a nitrogenous
fetiliser?

fr=feaRaa | i9 AR 3dRE 981 B 2



Options:

1) Ammonium sulphate
IMHIIH Tethe

2) Urea

giRar

(9

3) Ammonium nitrate

IHITH ATSge

4) Superphospohate

U BIEhe

Correct Answer: Superphospohate

U BIEhe

Candidate Answer: Ammonium sulphate

IMITH Iethe

Question 50.The absolute zero is a temperature at which

Y g i a8 Rfa g fra o



Options:
1) molecular motion in a gas would cease

I 7 3nfoges i g e @
2) water freezes

STel STHA o9 TdT &

3) all gases become liquid

I S TT eI S &

4) all gases become solid

T I o1 ® yRafdd gl oiid &

Correct Answer: molecular motion in a gas would cease
G H 3O i ged el 8

Candidate Answer: water freezes

STel STHA o9 TdT &

Question 51.A can do a piece of work in 8 days and B can
do it in 10 days seperately. How many days would it take
for both A and B to finish the same work together?

AfTPN AR 8 T A HIThdr g 3B SH HFH BT 10
fo H Y TohdT 2| Id1U A 3R B Rreteny S wrH &7
fora fam 5 qRT &3t 2




Options:

1)

iz
B

2)

3)

41

4)

11

Correct Answer:

40

Candidate Answer:

gl

Question 52.The lengths of the diagonals of a rhombus
are 8 cm and 6 cm. The area of rhombus is:

Uh FHAGHS o [Thol oY THaITSaT 8 F.HY. TAT 6 F.HY.
g | FHAGHS BT AT foha=T g ?




Options:

1) 96 cm?
96 . 1.2
2) 60 cm?
60 4.2
3) 48 cm?
48 |.9Y.2
4) 24 cm?
24 9 4t

Correct Answer: 24 cm?

24 91,2

Candidate Answer: 24 cm?

24 JHY .2

Question 53.Two successive discounts of 10% and 20%
are equivalent to a single discount of

10% AT 20% I SF HAAR e fhd THATS e & A

g7
Options:
1) 28%
2) 27%



Correct Answer: 28%
Candidate Answer: 28%

Question 54.A and B together have Rs. 6300. If 5/19 of
A's amount is equal to 2/5 of B's amount. The amount of
B'is

A 3R B & UTH HeoT fHeTThY Rs. 6300 31 TfE A T 5/19

¥ B &Y 2/5 1T 6 IRTEX g Y B o Ut foha= widr g ?

Options:
1) Rs. 2500

2) Rs. 3800
3) Rs.2300

4) Rs. 4000
Correct Answer: Rs. 2500
Candidate Answer: Rs. 2500

Question 55.1f the selling price of 40 articles is equal to
the cost price of 50 articles, the loss or gain percent is

i 40 I3 T forsha o 50 I3 & 5T oI &
ISR 21 J1 g+ AT ATH hT Ul oTd Id12T ?



Options:

1) 25% gain

25% ATH

2) 20% gain

20%cITH

3) 25% loss

25% g+

4) 20% loss

20% g+

Correct Answer: 25% gain
25% TH

Candidate Answer: 25% gain
25% TH

Question 56.A's income is 25% more than B's income. B's
income is what percent of A's income?

A &Y IMTAB Y 3T H 25% 31fereh 2 1 B bl 3T A &Y 3T
T fopaT uferoTa 8 2



Options:
1) 80

4) 25
Correct Answer: 80
Candidate Answer: 80

Question 57.In what time will a train, 60 metres long,
running at the rate of 36 km/hr pass a telegraph post?

60 T T+ Teh YS! 36 foh Y /g<T o) =TeT A THh

SATITH b T B fohd= THT H IR B[N ?

Options:

1) 9 seconds
0 AHTSH

2) 8 seconds
8 AHUSH

3) 7 seconds
7 AHUSH

4) 6 seconds
6 AhUSH




Correct Answer: 6 seconds

6 AHUSH

Candidate Answer: 6 seconds
6 HhvSH

Question 58.If 5x + 1/x = 10, then x2 + 1/25x2 is equal to

e 5x + 1/x = 10 Erar x2 + 1/25x2 foraeh a_Ta R 2
Options:

1)

1
jﬁ

2)
3)

4)

Correct Answer:

*

Qandidate Answer:

%



Question 59.

Far=h+ . e L p2 thenrihis?
ir#i)

TfE 4r = b - x"mf:ﬂr:'
N AM "Agy 7 (r=0)

Options:
1) 17:8

2) 8:17
3) 8:15
4) 15:8

Correct Answer: 8:15
Candidate Answer: 8:15

Question 60.1f sinA + sin? A = 1 then what is the value of
cos?A + cos? A ?

Ife sinA + sin? A = 1 I'dT cos?A + cos? A &T |19 IdTST ?

Options:
1) 1

2) 2
3) %

4) %



Correct Answer: 1
Candidate Answer: 1

Question 61.Three angles of a quadrilateral are
60°,90°and 100°.Then the fourth angle of the quadrilateral
IS

fept Trgyst & = o 609, 900 31 1000 & B 1 IdTST
TGS BT AT HIUT FHa=T R 2

Options:
1) 95°

2) 100°

3) 110°

4) 115°
Correct Answer: 110°

Candidate Answer: 110°



Question 62.Which one of the following is true for
0°<6<90°

0°<6<90° & foru FrAfeRea s @ FTagr & 2
Options:

roaf = rosld

Correct Answer:

T M e

Candidate Answer:

i bR e o el

Question_63_.

A3 =cd g3 <7 =

The walue of is eqqual to?

9x3 M gran -t



Options:

1)

=

2)
3)

4) 3
C_:orrect Answer:

Em
=

Qandidate Answer:

Em
H

Question 64.If the average age of four children is 12 years
and the average age of these children and their fathers is
20 years, what is the age of the father?

Il 4 gl ) SR S 12 T T2AT 39 J=dl 3R 39k
frar @t SirEa 31y 20 I g1 &Y frar o sy foha 3 2




Options:
1) 52 years

52 99

2) 48 years

48 99

3) 62 years

62 I

4) 54 years

54 9

Correct Answer: 52 years
52 9

Candidate Answer: 52 years

52 a9

Question 65.1f a+b=3 then the value of a3+b3+9ab-27 is

gfe a+b=3 g al a3+b3+9ab-27 T HIH IdISU ?

Options:
1) 24

2) 25
3) 0

4) 27
Correct Answer: 0



Candidate Answer: 0

Question 66.1f x+1/x = 2, then the value of x’+2/x% is
equal to?

IfE x + 1/x = 2 Bral x/ + 2/x0 T {419 94131 ?

Options:
1)0

2) 1
3) 2

4) 3
Correct Answer: 3
Candidate Answer: 3

Question 67.In AABC two medians BE and CF intersects
at the point O and P,Q are the midpoints of BO and CO
respectively. If the length of PQ=3cm, then the length of
FE will be

Pryst ABC & & 7eg 3@V BE ¥R CF foeg 0 ux frerelt 3
T BO 3R CO UX 3hHeT: P 3R Q wed fag 2 1 afg PQ @t
TrTS 3 /.HY. g1 Al FE &Y oIRITS RIT gIRfY 2



Options:
1) 3cm

3|

2) 6 cm

6 .9,

3)9cm

9|

4) 12 cm

12 |4

Correct Answer: 3 cm
3|

Candidate Answer: 3 cm

339

Question 68.In a triangle PQR, S and T are the points on
PQ and PR respectively, such that ST Il QR and
PS/SQ=3/5,PR =6cm, then PT is

PQR F21ysT #, S 3R T sh#en PQ IR PRUR ST fag 21 ST
IIQR 3R PS/SQ=3/5, TafE PR = 6 V.Y 1, aT PT AT BT ?



Options:
1) 2cm

2 |

2) 2.25cm

2.25 ..
3)3.5cm

3.5

4) 4 cm

49 4

Correct Answer: 2.25cm
2.25 9.

Candidate Answer: 2.25cm

2.25 .9,

Question 69.1f 5 sin26+ 4cos? 8= 9/2 and 0 <B6<[1/2 then
tan® is equal t0?

gfe 5 sin26+ 4cos? 6 = 9/2 BY 3 0 <6<[1/2 gr al tano
foh e aRTER NI ?



Options:
1) 1

2) 0
3) -1
4) %

Correct Answer: 1
Candidate Answer: 1

Question 70.1f Rs. 10000 amounts to Rs. 11664 invested
in compound interest(compounded annually) for two
years then the annual rate of compound interest is

Tfg Rs.10000 Y T 2 I8 & Tshdfest TS R (A1iies ®U
& HAINST ) Rs. 11664 &1 STt § f Ashdiex ATST di

¥ g3 Id13U ?
Options:

1) 10%

2) 9%

3) 8%

4) 6%

Correct Answer: 8%
Candidate Answer: 8%




Question 71.From the top of a tower 60 mts high the
angle of depression of the top and bottomof a pole are
observed to be 45° and 60° respectively. If the pole and
tower stand on the same plane, the height of the pole in
meters is

60 HieX ST fpdT MR & oY WRT & fopet @+ & oy
3R T & TgIH HIoT shHITE 459 3R 600 femg <A B
fe ST 3NN HAR Th g T U g dl HieY § T &)
SdTs JdT2U ?

Options:
1) 60(v3-1)

2) 20(v3-1)
3) 20(3-v3)
4) 20(v3+1)

Correct Answer: 20(3-v3)
Candidate Answer: 20(3-v3)



Question 72.The pie chart drawn below shows below the
spendings of a country on various sports during a
particular year. Study the pie chart and answer the
guestions.

fr=aferRaa urs =re # for<dht 2ot gy fonsd) ad feroiwr #
fafi= Yepsl wEd o IE AT quRAt S g1 g e
T 1T HITSTT 3N T & I fefory |

NPA
WAV

The ratio of the amount spent on football, basketball and
cricket to that spent on tennis,hockey andgolf is

hadicl gRhedicl 3R fShdhe & FHuR hA 7T @< qan
<for, gla! IR et & U fhd T @< § 3rgura
gdrsq ?




Options:
1) 5:7

2) 7:5
3) 15:1
4) 3:20

Correct Answer: /:5
Candidate Answer: 7:5



Question 73.The pie chart drawn below shows below the
spendings of a country on various sports during a
particular year. Study the pie chart and answer the

guestions.

fr=aferRaa urs are # for<dht 2ot gy fon<l) ad feroiwr #
fafi= Yepgl R Ed o I AT quRA S g1 g Ane
T T BT 3N T & I fefory |

NPA
WAV

If the total amount spent on sports during the year was
Rs. 1,20,00,000 how muchwas spent on basketball

gfe g9 & SRIE Wedhs UG Rs. 1,20,00,000T 1T @<
Y I oY IThe dict U feha=T AT @< &Y 172 2




Options:
1) Rs. 950000

2) Rs. 10,00,000
3) Rs. 12,00,000

4) Rs. 15,00,000
Correct Answer: Rs. 15,00,000
Candidate Answer: Rs. 15,00,000



Question 74.The pie chart drawn below shows below the
spendings of a country on various sports during a
particular year. Study the pie chart and answer the

guestions.

ferfaRaa ure = o fop<dt 291 gy fopelY oo feroiw |
fafi= Yol R Ed o I AT quRAt S g1 g Ane
T 1T HITSTT 3N T & I fefory |

NPA
WAV

Total central angle showing the money spent on
hockey,football and other during the year was

I HT BIVT gl , pedicd R SAX Well U g W= Bl
oM g ?




Options:
1) 104°

2) 244°
3) 96°
4) 144°

Correct Answer: 144°
Candidate Answer: 144°



Question 75.The pie chart drawn below shows below the

spendings of a country on various sports during a
particular year. Study the pie chart and answer the

guestions.

fer=aferRaa urg ord # for<dt Qor gy fopelY o feoiw #
fafi= Tergpsl R Ed A IS AT quRR TS B urs =
hT 7T hITTT 3 T+ & I fefw |

NPA
WAV

If the money spent on cricket during the year was Rs.
20,00,000, then the money spent on tennis was:

gfe aof & SR shehe U Rs. 20,00,000 o IR @< BT TS
a1 <oy uR fopa=t T W= St 18 2



Options:
1) Rs. 8,00,000

2) Rs.10,00,000
3) Rs. 80,00,000

4) Rs. 40,00,000
Correct Answer: Rs. 8,00,000
Candidate Answer: Rs. 8,00,000

Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

ADAPT

Options:

1) BRING UP

2) ADJUST

3) ENCOURAGE

4) SERVE

Correct Answer: ADJUST

Candidate Answer: ADJUST



Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

ARID
Options:

1) DRY

2) FERTILE
3) BARREN
4) FALLOW

Correct Answer: FERTILE
Candidate Answer: FERTILE

Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.

Options:

1) Definite

2) Diffinite

3) Defenite

4) Difinite

Correct Answer: Definite

Candidate Answer: Definite



Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Why you (A) / copying your homework (B) / from
someone else? (C) / No Error (D)

Options:

1) A

2) B

3)C

4) D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

There is (A) / few time (B) / for preparation. (C) / No Error

(D)
Options:
1) A

2) B
3)C
4)D



Correct Answer: B
Candidate Answer: B

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

All my hope (A) / were duped (B) / and | was plunged in
deep sorrow. (C) / No Error (D)

Options:

1) A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: B

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Naresh made a fortune buying and selling used
cars.




Options:

1) at

2) by

3)in

4) on

Correct Answer: by
Candidate Answer: by

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

She has finished writing the article,
Options:

1) has she?

2) isn't it?

3) hasn't she?

4) is it?

Correct Answer: hasn't she?
Candidate Answer: hasn't she?




Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
toit.

An animal species becomes _____ when its last existing
member dies.

Options:

1) exist

2) existing

3) extinct

4) extract

Correct Answer: extinct

Candidate Answer: extinct

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Catch a tartar

Options:

1) To catch a dangerous person

2) To deal with a person who is more than one's match
3) To trap a wanted criminal with great difficulty

4) To live carefully and cautiously

Correct Answer: To deal with a person who is more than
one's match



Candidate Answer: To live carefully and cautiously

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Cap in hand

Options:

1) Defiant

2) Screaming

3) Well behaved

4) In a respectful manner

Correct Answer: In a respectful manner
Candidate Answer: In a respectful manner

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

In the blues

Options:

1) Cheerless and depressed

2) Violent and angry

3) Wearing blue badges

4) Singing sad songs

Correct Answer: Cheerless and depressed



Candidate Answer: Cheerless and depressed

Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

A notice of a person's death
Options:

1) Memorandum

2) Obituary

3) Reminder

4) Rejoinder

Correct Answer: Obituary
Candidate Answer: Obituary

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

An animal that lives in groups
Options:

1) Hoard

2) Fastidious

3) Gullible

4) Gregarious

Correct Answer: Gregarious
Candidate Answer: Hoard



Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Hard working and diligent
Options:

1) Seditious

2) Sedate

3) Sedulous

4) Scheming

Correct Answer: Sedulous
Candidate Answer: Sedulous

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

When in doubt check it up with a good dictionary.
Options:

1) check it up in

2) check it in

3) check it with

4) No improvement

Correct Answer: check it in
Candidate Answer: No improvement




Question 92 A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

At the present rate of exchange, fourteen dozen cost
Rs.3000.

Options:

1) dozen costs

2) dozens cost

3) dozens costs

4) No improvement

Correct Answer: No improvement
Candidate Answer: dozen costs

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Can vou believed this is the same old and the dilapidated
house | had bought last year?




Options:

1) Can you not believe this is the same old and the
dilapidated house that | buy last year?

2) Can you believe this is the same old and the same
dilapidated house | have bought last year?

3) Can you believe this is the same old and dilapidated
house | had bought last year?

4) No improvement

Correct Answer: Can you believe this is the same old and
dilapidated house | had bought last year?

Candidate Answer: Can you believe this is the same old
and dilapidated house | had bought last year?

Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

If the sky is overcast, | take my umbrella with me.
Options:

1) When

2) Unless

3) Whenever

4) No improvement

Correct Answer: Whenever
Candidate Answer: Whenever



Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

The artist claims to have royal blood in his veins.
Options:

1) hand

2) head

3) forehead

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely
to experience the late morning slump; tiredness,
sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping
the first meal of the day leads to intense hunger pangs by
late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-
skippers are more likely to be overweight. A good



breakfast leads to a more active, productive day.
Research has found a definite connection between
skipping breakfast and memory impairment in both young
and older adults. Moreover, breakfast is directly linked
with performance in school and college. Breakfast should
contribute at least one-fourth of our daily requirement of
nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition
to minerals and vitamins. Essentially this means including
most of our food groups in the morning meal. Whole grain
cereals - like atta in parathas and puris, dalia, suji, etc. are
an integral part of the traditional Indian breakfast. Their
high fibre and protein content provides a feeling of
satisfaction, which lowers the urge to snack before lunch.
On the other hand, high-sugar foods actually make people
sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or
as sambhar) are other protein sources. A serving of milk
(one cup) provides B-complex vitamins and also minerals
like zinc, magnesium and calcium. Fruits or vegetables
provide valuable vitamin C and keep constipation away.

We experience sleepiness in the morning because
Options:

1) we eat breakfast

2) we miss breakfast

3) efficiency goes down

4) we feel tired and sleepy



Correct Answer: we miss breakfast
Candidate Answer: we miss breakfast

Question 97.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely
to experience the late morning slump; tiredness,
sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping
the first meal of the day leads to intense hunger pangs by
late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-
skippers are more likely to be overweight. A good
breakfast leads to a more active, productive day.
Research has found a definite connection between
skipping breakfast and memory impairment in both young
and older adults. Moreover, breakfast is directly linked
with performance in school and college. Breakfast should
contribute at least one-fourth of our daily requirement of
nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition
to minerals and vitamins. Essentially this means including
most of our food groups in the morning meal. Whole grain
cereals - like atta in parathas and puris, dalia, suji, etc. are
an integral part of the traditional Indian breakfast. Their
high fibre and protein content provides a feeling of



satisfaction, which lowers the urge to snack before lunch.
On the other hand, high-sugar foods actually make people
sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or
as sambhar) are other protein sources. A serving of milk
(one cup) provides B-complex vitamins and also minerals
like zinc, magnesium and calcium. Fruits or vegetables
provide valuable vitamin C and keep constipation away.

We eat unhealthy food when
Options:

1) we suffer from hunger

2) we have become overweight
3) we have skipped the first meal
4) we love chips, burgers etc.

Correct Answer: we have skipped the first meal
Candidate Answer: we have skipped the first meal

Question 98.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely
to experience the late morning slump; tiredness,
sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping
the first meal of the day leads to intense hunger pangs by



late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-
skippers are more likely to be overweight. A good
breakfast leads to a more active, productive day.
Research has found a definite connection between
skipping breakfast and memory impairment in both young
and older adults. Moreover, breakfast is directly linked
with performance in school and college. Breakfast should
contribute at least one-fourth of our daily requirement of
nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition
to minerals and vitamins. Essentially this means including
most of our food groups in the morning meal. Whole grain
cereals - like atta in parathas and puris, dalia, suji, etc. are
an integral part of the traditional Indian breakfast. Their
high fibre and protein content provides a feeling of
satisfaction, which lowers the urge to snack before lunch.
On the other hand, high-sugar foods actually make people
sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or
as sambhar) are other protein sources. A serving of milk
(one cup) provides B-complex vitamins and also minerals
like zinc, magnesium and calcium. Fruits or vegetables
provide valuable vitamin C and keep constipation away.

A good breakfast



Options:

1) keeps you active

2) causes memory loss

3) boosts performance

4) keeps you active; boosts performance

Correct Answer: keeps you active; boosts performance
Candidate Answer: keeps you active; boosts performance

Question 99.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely
to experience the late morning slump; tiredness,
sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping
the first meal of the day leads to intense hunger pangs by
late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-
skippers are more likely to be overweight. A good
breakfast leads to a more active, productive day.
Research has found a definite connection between
skipping breakfast and memory impairment in both young
and older adults. Moreover, breakfast is directly linked
with performance in school and college. Breakfast should
contribute at least one-fourth of our daily requirement of
nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition



to minerals and vitamins. Essentially this means including
most of our food groups in the morning meal. Whole grain
cereals - like atta in parathas and puris, dalia, suji, etc. are
an integral part of the traditional Indian breakfast. Their
high fibre and protein content provides a feeling of
satisfaction, which lowers the urge to snack before lunch.
On the other hand, high-sugar foods actually make people
sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or
as sambhar) are other protein sources. A serving of milk
(one cup) provides B-complex vitamins and also minerals
like zinc, magnesium and calcium. Fruits or vegetables
provide valuable vitamin C and keep constipation away.

An ideal breakfast should contain

Options:

1) carbohydrates, proteins, fats, minerals and vitamins

2) some food groups

3) only high fibre and protein

4) foods of our choice

Correct Answer: carbohydrates, proteins, fats, minerals
and vitamins

Candidate Answer: carbohydrates, proteins, fats, minerals
and vitamins

Question 100.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives



and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely
to experience the late morning slump; tiredness,
sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping
the first meal of the day leads to intense hunger pangs by
late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-
skippers are more likely to be overweight. A good
breakfast leads to a more active, productive day.
Research has found a definite connection between
skipping breakfast and memory impairment in both young
and older adults. Moreover, breakfast is directly linked
with performance in school and college. Breakfast should
contribute at least one-fourth of our daily requirement of
nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition
to minerals and vitamins. Essentially this means including
most of our food groups in the morning meal. Whole grain
cereals - like atta in parathas and puris, dalia, suji, etc. are
an integral part of the traditional Indian breakfast. Their
high fibre and protein content provides a feeling of
satisfaction, which lowers the urge to snack before lunch.
On the other hand, high-sugar foods actually make people
sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or
as sambhar) are other protein sources. A serving of milk



(one cup) provides B-complex vitamins and also minerals
like zinc, magnesium and calcium. Fruits or vegetables
provide valuable vitamin C and keep constipation away.

Breakfast is satisfying when

Options:

1) itis rich in fatty foods

2) it contains high protein and fibre content

3) itis rich in carbohydrates, proteins and fats

4) we eat to our heart's content

Correct Answer: it contains high protein and fibre content

Candidate Answer: it contains high protein and fibre
content



